### Y5 Autumn Term Quick Starts

	Divide by 10	Divide by 100	Divide by 1000
3928			
347			
4095			
9			

 $4356 \div 12 =$  \_\_\_\_\_\_ 5038 + 1.67 = \_\_\_\_\_\_ 34 - 6.45 = \_\_\_\_\_  $145 \times 53 =$  \_\_\_\_\_\_  $12 \times 5 \frac{1}{2} =$  \_\_\_\_\_  $4 \times 2 \frac{1}{2} =$  \_\_\_\_\_  $7 \times 7 \frac{1}{2} =$  \_\_\_\_\_  $12 \times 5 \frac{1}{2} =$  \_\_\_\_\_  $1/4 \times 1/3 =$  \_\_\_\_\_  $3/5 \times 1/7 =$  \_\_\_\_\_  $1/4 \times 1/3 =$  \_\_\_\_\_  $4/9 \times 6/7 =$  \_\_\_\_\_ 3/10 + 6/10 = \_\_\_\_\_ 1/6 + 2/6 = \_\_\_\_\_ 1/4 + 7/8 = \_\_\_\_\_ 1/5 + 5/10 = \_\_\_\_\_

### Y5 Autumn Term Quick Starts

	Divide by	Divide by 100	Divide by 1000
	10	100	
463			
983			
84			
92			

 $5656 \div 13 =$  \_\_\_\_\_\_ 3478 + 4.89 = \_\_\_\_\_\_ 85 - 4.57 = \_\_\_\_\_  $125 \times 33 =$  \_\_\_\_\_\_  $10 \times 5 \frac{1}{2} =$  \_\_\_\_\_  $6 \times 5 \frac{1}{2} =$  \_\_\_\_\_  $8 \times 9 \frac{1}{2} =$  \_\_\_\_\_  $11 \times 4 \frac{1}{2} =$  \_\_\_\_\_  $1/7 \times 1/3 =$  \_\_\_\_\_  $3/4 \times 2/6 =$  \_\_\_\_\_  $3/7 \times 1/6 =$  \_\_\_\_\_  $1/6 \times 6/7 =$  \_\_\_\_\_ 2/10 + 2/10 = \_\_\_\_\_ 2/6 + 2/6 = \_\_\_\_\_ 2/4 + 2/8 = \_\_\_\_\_ 3/10 + 6/10 = \_\_\_\_\_

# Y5 Autumn Term Quick Starts

	Divide by 10	Divide by 100	Divide by 1000
3827			
90			
264			
52			

7434 ÷ 12 = \_\_\_\_\_ 3342 + 4.45 = \_\_\_\_ 67 - 4.68 = \_\_\_\_ 132 × 34 = \_\_\_\_ 6 × 3  $\frac{1}{2}$  = \_\_\_\_ 6 × 7  $\frac{1}{2}$  = \_\_\_\_ 6 × 7  $\frac{1}{2}$  = \_\_\_\_ 1/8 × 1/9 = \_\_\_ 3/5 × 1/9 = \_\_\_ 1/2 × 1/3 = \_\_\_ 4/3 × 6/7 = \_\_\_ 1/10 + 5/10 = \_\_\_ 2/6 + 3/6 = \_\_\_ 7/8 + 6/8 = \_\_\_ 9 3/10 + 6/10 = \_\_\_\_

### Y5 Autumn Term Quick Starts

	Divide by 10	Divide by 100	Divide by 1000
2821			
382			
86			
983			

# Y5 Autumn Term Quick Starts

	Divide by 10	Divide by 100	Divide by 1000
3728			
58			
566			
5394			

# Y5 Autumn Term Quick Starts

	Divide by 10	Divide by 100	Divide by 1000
4374			
4958			
675			
46			

 $5836 \div 6 =$  \_\_\_\_\_\_\_ 5238 + 7.67 = \_\_\_\_\_\_\_ 95 - 13.62 = \_\_\_\_\_\_  $592 \times 39 =$  \_\_\_\_\_\_  $10 \times 9 \frac{1}{2} =$  \_\_\_\_\_\_  $12 \times 4 \frac{1}{2} =$  \_\_\_\_\_\_  $9 \times 6 \frac{1}{2} =$  \_\_\_\_\_\_  $9 \times 8 \frac{1}{2} =$  \_\_\_\_\_\_  $4/5 \times 6/7 =$  \_\_\_\_\_  $1/6 \times 1/6 =$  \_\_\_\_\_  $2/12 \times 9/9 =$  \_\_\_\_\_\_  $1/5 \times 5/7 =$  \_\_\_\_\_\_ 1/2 + 6/10 = \_\_\_\_\_ 1/2 + 5/6 = \_\_\_\_\_ 6/8 + 7/24 = \_\_\_\_\_ 4/10 + 6/40 = \_\_\_\_\_\_

Writing Task:
Write a setting description. Imagine you and a friend are about to enter an abandoned house. Describe what you see, feel, smell, hear as you walk up the path and open the door. Make it a spooky setting with lots of creepy description or something fun and exciting!

Research Task:
Your topic next half term is WWII. Please can you research facts and be prepared to
share these in class. This week's research task is to find out about the events that ked
up to the Second World War taking place

### Anne Frank

Born in Germany on 12th June 1929

Parents: Otto and Edith

Sister: Margot

Lively and outgoing, had lots of friends.

Enjoyed writing, going for family trips out to the seaside, riding her bike.

### The Second World War

In 1933, Adolf Hitler became the leader of Germany. Anne was Jewish but Hitler despised Jews. He blamed them for Germany's problems. Otto Frank moved to Amsterdam in the Netherlands when Anne was four years old. The Second World War began in 1939. The Nazis invaded the Netherlands in 1940. Life became hard for Jewish people. They were forced to wear a yellow star. Anne received a red diary for her thirteenth birthday. Anne named her diary 'Kitty'; she began to write in it every day. Anne loved to write.

### Going Into Hiding

Otto Frank had a secret annexe behind his office. Anne and her family hid away from the Nazis for two years. Anne wrote in 'Kitty' every day.

#### Captured

Towards the end of the war, Anne and her family were betrayed and the Nazis found their hiding place. The family was split up and sent to a concentration camp. Anne died just a month before the end of the war from a disease called typhus. She was fifteen years old when she died. Only Otto Frank

Anne Frank had dreams of becoming a writer. Her diary shows her courage and hopefulness.

"Think of all the beauty still left around you and be happy."

Anne Frank

"No one has ever become poorer by giving."

Anne Frank

#### Tasks:

Highlight the main ideas in the text. text in the space below.	Using this information, write a summary of the

Reading Questions:
1. When and where was Anne Frank born?
2. What is the best meaning for 'lively and outgoing'? Tick one answer.
Full of life and energy
Naughty and mischievous
Quiet and laid-back
3. Use the information to find two things that Anne Frank enjoyed doing.
4. Who was Adolf Hitler?
5. When the Nazis invaded the Netherlands in 1940, life became hard for Jews. What were they made to do?
6. Anne received a red journal for her thirteenth birthday. What did she name it?
<u>SPAG</u>
Modal verbs
These are verbs that indicate likelihood, ability, permission or obligation.
Words like: can/could, may/might, will/would, shall/should and must.
"The Sea Monster should go away"
'Should' is the modal verb here as it indicates the likelihood of the Sea Monster going
away.
Under line the modal verbs in the sentences below
Miss Brady, can walk in the park because the sun is shining.
The class might work really hard on their homework.
Fred should be kinder to his friends when they are stuck with their work.
Write your own range of sentences that contain modal verbs.